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PHYSICS, CHEMISTRY AND BIOLOGY

GENERAL INSTRUCTIONS

Examinee is directed 10 read carefully the following
instructions :
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- Examinee must write his/her Roll Number in the

. Besides filling in the Roll Number, the examinee has to

. For each question, there are four alternative answers,

. There are 40

. This Question Booklet contains 150 questions from

. Each question carries 1 mark and % mark will be

. In case of any discrepancy between the English and

. Possession and use of electronic devices such as

+ Any leaf from the Question Bookiet should not be

specified box on the top left hand cormer of this page.
Answers are required 1o be marked only on the
Compulerised O.M.R. Answer sheet which is being
provided io the examinge.

put his/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, etc. as Indicated on the Answer OMR
Sheet. If these detalls are not filled in by the examinee,
his/her Answer Sheet will not be evaluated,

out of which only one is correct. Examinee must darken
the circle of corract option in the Answer Shest by Black
Ball Pen only.

(37+3) pages In this Question-Bookiet
including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinae recelves an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam,

following subjects :

(1) Physics Q.Nos. 1-50
(2) Chemistry Q. Nos. 51-~100
(3) Biology Q.Nos. 101-150

deducted for each wrong answer.

Hindi versions of any question, the English version will
be treated as final/authentic.

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager etc., are restricled during the examination.

detached, After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
invigilaior,

During examination the examinee will not be allowed
to leave the examination hall 1ill the END of the

Examination.
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PHYSICS

1. A convex lens of focal length 0.15 m is
made of material of refractive index y .
When it is placed in a liquid, its focal
length is increased by 0.225 m. The
refractive index of the liquid is

1NN/ B) ¥
o % D) %

2. InYoung's double slit experiment, the two
slits are 0.2 mm apart. The interference
fringes for light of wavelength 6000A
are found on the screen 80 cm away.
The distance of fifth dark fringe from the
central fringe will be

A) 6.8 mm
C) 9.8 mm

B} 7.8 mm
D) 10.8 mm

3. A diffraction patter is obtained using a
beam of red light. What happens if the
red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart

D) Bands disappear altogether

4. The moving proton and a-particle are
subjected to the same magnetic field, so
that the radii of their paths are equal to
each other. Assuming the field induction
B is perpendicular to the velocity vector
of the a.-particle and proton, the ratio of
de-Broglie wavelength of a-particle to

that of proton is
1
B %

WA
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5. At a certain time, a radioactive substance

contains 2 x 10% atoms and its disintegration
rate is 3 x 10" atoms/second. When
2 x 1016 atoms are left to decay, its
disintegration rate will be

A) §x1o‘° atom/ s

B) 0.693 x 3 x 10'° atoms/s
C) 3 x 10° atoms/s
D) 3 x 10" atoms/s

. Two wires of same length are shaped into

a square and a circle. If they carry same
current, ratio of magnetic moment is
A)2:n B) n:2

C)n:4 D)4:n

. Two identical magnetic dipoles of

magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, the
resultant magnetic field at a midpoint
the dipoles is

A) 4/5x107°T
C) 4/5x107°T

B) 25x107°T
D) 2/5x107T

. P, Q and R are long straight wires in air,

carrying currents as shown in the figure.
The force on Q is directed

P Q R
™ /N v
20A | 40A 60A
A) to the left

B) to the right

C) perpendicular to the plane of the
diagram

D) along the currentin Q

5. T G T Yeae aerel H 2 x 107 1Y

£ 37 Toeh fme & 3 x 10 T /3RS
2 | 5@ 2 x 10 o] fme, tg @ E A
Rreew

A) §x1o’° e
B) 0.693 x 3 x 10 T /&ehS

C) 3 x 10° T}/ &S
D) 3 x 1070 T/ 2S
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2| 7f 3 T Forega R, A ekt STept <61
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A) 2:m B) n:2

C) n:4 D)4:m
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A) 45x10°T B) 2/5x107°T
C) 4v5x107T D) 2J6x107T

. P, Qafk Rarg  &ia Wi an g o fmgan
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20A | 40A 60A
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10.

11.

12.

13.

The magnetic flux linked with a coil of
N turns of area of cross section A held
with its plane parallel to the field B is

ay NAB B) NAB

2

NAB
C) Rad

D) O

A coil having an inductance of 0.5 H
carries a current which is uniformly
varying from zero to 10 A Is 2 second.
The emf (in volt) generated in the coil is
A) 10 B) 5

C) 25 D) 1.25

The total energy of electron in the ground
state of hydrogen atom is 3.6 eV. The
kinetic energy of this electron in first
excited state is

A) 6.8 eV B) 13.6 eV
C) 1.7 eV D) 34ev
The half life of a radioactive isotope X is

50 years. It decays to another element
Y which is stable. The two elements
X and Y were found to be in the ratio of
1:15 in a sample of a given rock. The
age of the rock was estimated to be
A) 150 years B) 200 years
C) 250 years D) 100 years

The wavelength of first line of Lyman
series for hydrogen atom is equal to that
of the second line of Balmer series for a
hydrogen like ion. The atomic number
Z of hydrogen like ion is

A) 3 B) 4

C) 1 D) 2
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10.

11.

12,

13.

- A STTRAHIE grRe T N Tt areh) Shah

& T % & B % TR G wer

NAB
.27~
NAB
Bra

A) B) NAB

C) D) O

0.5 H 39T aTeht U sheeht & wr R & <
I FH 2 8hg # YT @ 10 A 7% fafdm

Tt 81 greett 8 s foew (volt i ) 2
A) 10 B) 5
C) 25 D) 1.25

T TR ERGIH TAT] & a2 A Fet
Sl -3.6 eV ® | wud I R # =g
ESEHEIRIIGE R

A) 6.8 eV B) 13.6 eV

C) 1.7 eV D) 3.4 eV

T Vel gty X i sl 50 o
BRI A YA FeRe s 2 @
PR IR TR A A Xy
1:15 % argama & 9 8 ¥ | 72w A a1y
— yAReRITER)

A) 150 a4 B) 200 =4

C) 250 = D) 100 =¥
1SS T St S e $ wor Y
T T TGS Y 3T Y e
ST st foda Y % aveR € | g 3
STTE 1 YTy W Z 2
A) 3

C) 1

B) 4
D) 2
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15.

16.

1578

18,

An AC supply of 230 V is applied to
a half wave rectifier circuit through a
transformer of turn ratio 10 : 1. Find the
output DC voitage. Assume the diode
to be ideal.
A) 230V

C) 104V

B) 5.2V
D) 20.8V

What will be the input of Aand B for the
Boolean expression (A +B)(A-B)=17?
A) 0,0 B) 0, 1
C)1,0 D) 1,1

A body of mass m, moving with a
uniform velocity of 40 ms~ collides with
another body of mass m, at rest and
then the two together begin to move
with a uniform velocity of 30 ms™. The

ratio of their masses (ﬂ-} is

m2
A) 0.75 B) 0.33
C) 3 D) 1.33

in planetary motion, the anguiar
momentum conservation leads to the
law of

A) orbits

B) area

C) periods

D) kinetic energy

Two wires A and B have the same
length and area of cross section. But
Young's modulus of A is two times the
Young's modulus of B. Then the ratio
of force constant of A to that of B is

A) 1 B) 2

c) ) D) V2
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15.
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18.

10 : 1 TS AT o T FAHI F e

B o Sy feeRn uRaY R TE 230 V H

AC s o et ¥ | Foht = e WA

T DC et S 1 L |

A) 230V B) 5.2V

C) 104V D) 20.8 V

e iR (A+B)(A-B) =1 fag

A 3fit B =1 217 =1 & ?

A) 0,0 B) O, 1

C)sito D) 1,1

m, TS ol U a9 40 ms™ =+ Th

T 3 % wry forom ¥ Tet geam m, et

e T & T & 3f 3 A 30 ms %

T 311 36 T T (% R § | 3 S
m,

mmgqm[Fn—J%

A) 0.75 B) 0.33

C) 3 D) 1.33

T v 3 R oTeT e
& fram e Ug=a R |

A) &l

B) &3

C) safy

D) Tyt St

S ARt A 37R B o wiars I ITIRIHRTE F

SrThel THF &, T A 1 T 0N B % A
Torier o S R | A A % o e @ B

F o Faeier 1 3T 8
A) 1 B} 2
o) % D) V2
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19.

20.

21,

22,

The equation of motion of a particle
executing Simple Harmonic Motion is
& + 16n%x = 0. In this equation, a is the
linear acceleration in ms-2 of the particle
at a displacement x in metre. The time
period in simple harmonic motion is

19. T w9=g Tfd &9 Ot w o ) Ry

N HHT a + 1602 = 02 | 39 Tt
F et x feef gt o g o a,
ms2 ¥ § | 9T widerg Y F sy 2

1

M 3 B) 2o Ag 5 g°
C) 1s D) 2s C) 1s D) 2s
The average kinetic energy of a gas 20. T g 379 Y s i e 2
molecule is
A) proportional to pressure of gas A) 9 % T & T
B) inversely proportional to volume of

gas B) 4 % 377 % syemATaTE
C) inversely proportional to absolute

temperature of gas C) 17 & ot aromm % e
D) proportional to absolute temperature

of gas D) @ & qof aror 3wt
An electric field is given by 21. TREAE E = (yi+ xj)NC'RITH1ICH
E=(yi+ xj)NC™'.The work done in IR T, = (2+2))m A B =(4+m
moving a 1C charge from
fa=(2i+2))mtor, = (4i+])m is R I 3 o v e
A) +4J B) ~4J A) +4J B) -4J
C) +8J D) zero C) +8J D) =@
There is a current of 4.8 ampere in a 22. T T & 4.8 TR i fae 21 wmm
conductor. The number of electrons that %1 foun % s g Yo et w1 F IR
cross any section normal to the direction NEFGIN o v
of flow per second is
A) 10" B) 2x10% A) 107 B) 2x10%
C) 3x10% D) 7x10% C) 3x10" D) 7x102

8 PM PCB
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23.

24,

25.

26,

Magnitude of drift velocity per unit 03, whi $rs T & SaTE 3 Y AR R
glectric field is
, A) o ue
A) Current density
B) Current B) fe
C) Resistivity C) wierrerera
D) Mobility D) wfcrefieren
The colour code for a resistor of o4. 5% TRIT* T 3.5 kQ ¥ IRy I
resistance 3.5 kQ with 5% tolerance is IO IR UK TA ]
A) Orange, green, orange and gold A) w0, &, Hal i gIEU
B) Orange, green, orange and silver B) &, &, Fah 2 =t
C) Orange, green, red and silver C) dad, &, 9 i =th
D) Orange, green, red and gold D) &adl, &, ¥ R AR
What is the potential difference between o5, fm 3 R wRey s i figati A B
the points A and B in the circuit diagram 3 < PR 2 7
shown in figure ? 1
20 V 20V
[a [A
3 5 Q‘E
5 QE: 8 O > 8Q
B C B C
100z 40 10az 40
S N
A 29 vorit B) 10 voit Ay 29 voit 8) ‘2 voit
3 3 3 3
20 10 20 10
C) —= Volt D) —= Vot C) — Volt D) — Voit
NE] NE] J3 V3
An electric bulb rated 220 V, 100 W is 26. 220 V, 100 W = T farega oiesi gER 220 V,
connected in series with another bulb :
rated 220 V, 60 W. If the voltage across 60 W %.@W F T e B e TR |
the combination is 220 V, the power If 7o gEeH # dieest 220 V ®, @ 100 W
consumed by the 100 W bulb will be I S EI @I Al T WfAd 8
about
A) 25 W B) 14 W A) 26 W B) 14 W
C) 60 W D) 100 W C) 60W D) 100 W
Page No. 8 8 PM PCB
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27. A potentiometer wire 10 m long, has
a resistance of 40 Q. It is connected
in series with a resistance box and a
2V storage cell. If the potential gradient
along the wire is 0.1 mV/cm, the
resistance unplugged in the box is

A) 260 © B} 760 Q
C) 960 O D) 1060 O

28. In the loop shown, the magnetic
induction at the point O is

1ol [Ry+R, |
® 8| AR, |

sl [ RyR, |
<) 8 [Ry+R,;

D) Zero

29. Ampere's circuital law can be derived
from
A) Ohm’s law
B) Biot-Savart law
C) Kirchoff's law
D) Gauss law

30. When 0.005 A current flows through a
moving coil galvanometer, it gives full
scale deflection. It is converted into a
voltmeter to read 5 V using an external
resistance of 975 Q. The resistance of
the galvanometer in ohms is

A) 5 B) 10
C) 15 D) 25

27. Th URREH a1 10 m e 2k 40 O

28.

30.

wfeRreraTe g1 Al 38 @ ety s oft 2 v
=i ¥igrW ¥t § ST § s wnar & ot ar i
favma aonieR 0.1 mV/em 2, s 1 e &
A) 260 Q B) 760 Q
C) 960 Q D) 1060 Q

gmaﬁﬁmqmﬁgoq?ﬁﬁﬁﬂaw

STe U =Te] et fiearmiet # 0.005 A @t
foregn =<l B, A 78 Ui Yo fargoor R
?1 T 975 Q F =T TR F W A 5T

5 V % 3% g U dicediet § sgel T )
Aegaret =1 whale AR |
A) 5 B) 10

C) 15 D) 25
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31. When a current of 2 A flows in a battery
from negative to positive terminal the
potential difference across itis 12 V. If
a current of 3 A flowing in the opposite
direction produces a potential difference
of 15 V, the emf of the battery is

A) 128V B) 13.2V
C) 135V D) 14.0V

32. With a potentiometer, null points are
obtained at 140 cm and 180 cm with cells
of emf 1.1 V and one of unknown value

respectively. The unknown emf is
Ay 1V B) 1.8V
C)16V D) 141V

33. An infinitely long conductor is bent into
the shape as shown in the figure. It
carries a current | and the radius of the
circular loop is r. Then magnetic field at
the center of the loop is

|

0
e Y,
g 71
A) zero B) infinity

Hol |
C) 2—;'_(11:+1) D) %(%1)

C Page No. 10

31, 59 U 41 T RO B o0 G OF 2 A H
frera st @ sl R 12 VeI Il o
form 3 A i foudlia fesn A s 15 VI
i I e B, T 9 1 ST §

A) 126V B) 132V

C) 135V D) 14.0V

32, U Ui S iy, 1.1 V 3 T 3T
Soyes HF Sl S A 1409 W, 3l 180T .
SFEI: U FTEIER o7 T B 1 ST SO §

A) 1.1V B) 1.8V

C) 1.6V D) 1.41V

33. T 30 ws e i A e agEn
aYveRfer o HvgT N B 1 56 | foRld B S IRITRR
a1 s r 81 gHE o S Wi &
?

(4]
s, i,
g 2
A) I B) 3Td
Mol Jr
C) o (m+1) D) o (r-1)
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34.

35.

36.

37.

In a current carrying long solenoid,
the magnetic field produced does not
depends upon

A) Current flowing

B) Number of turns per unit length

C) Radius of the solenocid

D) All of the above

A circular loop of area 0.01m?2 carrying
a current of 10 A is held perpendicular
to a magnetic fieid of intensity 0.1 T.
The torque acting on the loop is

A) Zero B) 0.01 Nm

C) 0.001 Nm D) 0.8 Nm

The figure shows a LCR network
connected to 300 V AC supply.
The circuit elements are such that
R=X=X,=10Q.V,V,and V,
are three AC voltmeters connected
as shown in the figure. Which of the
following represents the correct set of

readings of the voltmeters ?

V1 V2 Va
R L C
)

/

300V

A) V,=100V,V,=100V,V, =100V
B) V,=150V,V,=0,V,=150V
C)V,=300V,V,=100V,V, =100V
D) V,=300V,V,=300V,V,=300V
A transformer with efficiency 80% works
at 4 kW and 100 V. If the secondary
voltage is 200 V, then the primary and
secondary currents are respectively

A) 40 A, 16 A B) 16 A, 40 A
C) 20A, 40 A D) 40 A, 20 A

Page No. 11

34.

35.

36.

37.

e ferga arlt ot aieTforen & Seaa gedh
SES R e e e |

A) et faega

B) Wit ST <iaTTs Tl it T

C) uftrierssr it fram

D) 3wt i

10 A Tag@ amen 0.01m? &% 1 T
FARR G 0.1 T Yohig &1 T8l % wwad
B 38 W T el w5 ]

A) T B) 0.01 Nm

C) 0.001 Nm D) 0.8 Nm

= 1 300 V AC 21mqfd & ©w LCR Jeash
g1 feamn man 21 ofy @e 36 yoK §,
R=X =X.=10Q1V,V, 3R v d=

AC dteerict o 1 faame e srgom 2 R
Fetatas 58 19 -1 SiceHiel & 3T
Ot g e @ 7

V1 VZ Va

_M J89000 {I_

R L

(=)

./

300V

A) V,=100V,V,=100V, V,=100V
B) V,=150V,V,=0,V,=150V

C) V,=300V,V,=100V,V,=100V
D) V,=300V,V,=300V,V, =300V
80% FHITErAl IR U SrahiHt 4 kW 3
100 V R &H &t B afg e diees
200 V &, A wrifires ik fifiass e sooe: &

A) 40A, 16 A B) 16 A,40A
C) 20A,40A D) 40A,20A
8 PM PCB
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38.

39.

40.

The rms value of the electric field of the
light coming from the sun is 720 NC-'.
The total average energy density of the
electromagnetic wave is

A) 3.3x 103 Jm3

B) 4.58 x 105 Jm™3

C) 6.37 x 10 Jm=

D) 81.35 x 1072 Jm™

An object placed infront of a concave
mirror at a distance of x cm from the
pole gives a 3 times magnified real
image. If it is moved to a distance of
(x + 5) cm. The magnification of the
image becomes 2. The focal length of

the mirror is
A) 15cm B) 20 cm
C) 25cm D) 30cm

A vessel of depth {2d) is half filled
with a liquid of refractive index ..
The remaining upper half is filled with
another immiscible liquid of refractive
index p,. The apparent depth of the
vessel, when viewed normally is

B) 2d[.1.+1]
Hy Ko

1 1 o[ 1 1
C)ld|—= — D) —[—+—]
[m uz] dipy, K,

Page No. 12

38.

39.

40.

T @ 1 et Wehre < T & %1 rms W
720 NC-' &1 forga gerefier ot it 31 =fvea
S O ©

A) 3.3 x 10°Jm™®

B) 4.58 x 106 Jm

C) 6.37 x 10° Jm™®

D) 81.35 x 1072 Jm™

Teh TS 901 % 9 g | x S F gl
W et g5g i 3 Ton S FRafas S W
B g 1R (x + 5) . R wH gl 7%
TR T ], 9 35eh! Bfd 1 a1 2 |
a1 R | g it Bighe T 8

A) 158 .1, B) 20 €.11.
C) 25 4.4, D) 30 %.4.
(2d)) TS ST T S TR 1, 6 T 58

ST 0 GO © | <ITehT 3Te Ok 3 foreranfea
7 & WO & e aroedtie 1,8 | SR Em E
| T I T, TN i TETS

B) 2d [l + i]
Ky Ha

C) d[.l.,.l] D) _2.[_1..,._"_]
Ky Ha dip, K,

8 PM PCB
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Ex

4t. Two fixed point charges + 4e and + e
units are separated by a distance a.
Where should the third point charge
be placed in between them to be in
equilibrium ?

A) At a distance :-32?—1- from + 4e charge

B) Ata distance 23?'1 from the charge

+4e
C) Ata distance t;_a from + 4e charge

D) At a distance 3:) from the charge

+ 4@

42. Charge Q is distributed to two different
metallic spheres having radii R and
2R such that both spheres have equal
surface charge density. Then charge on
larger sphere is

Q

L3 T F-N

A)

=

Q
Al e a|p

'®)

-l
9]

41,

42.

< ffrem fog mEw 4, 4 3 + o TTSAT
a TR W2 | grgeaan i e # 89 & fg

T offa 3§ et foig amaw el @ sy ?
3a :

A) +4e RN ?Eﬁtaﬁlﬂ
2a

B) +4e?ﬁlﬁ‘ﬂﬂ? EARAIAH

0) +4esmmd T hghw
3a
D) +4e 3T A AW

MY Q # R 3R 2R Brened ar < e
tfeares Tt 8 39 TR ferafie foman man 2
1 Ml 1 TR AT T T R A
I M YT A &

-
[

=

S
Al 0w a|p ols

S

=
D
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43. Two identical capacitors 1 and 2 are
connected in series to a battery as
shown in the figure. Capacitor 2 contains
a dielectric slab of dielectric constant K.
Q, and Q, are the charges stored in
the capacitors. Now the dielectric slab
is removed and the corresponding

charges are Q; and Q,, then

| | b
1 2
I
IE |
ay QK+t g G KM
Q, K Q, 2
Q, K+1 Q, K
€)@, "X D)Sasi

44, The electric potential at a point in free
space due to a charge Q coulomb is
Q x10" V. The electric field at that
point is
A) 4ne Q x 102Vm™’
B} 12re,Q x 10% Vm™!
C) 4neQ x 102 Vm™!
D) 12re Q x 102 VM=’

45. The resistance of a 10 m long wire is
10 Q. Its length is increased by 25%
by stretching the wire uniformly. Then
the resistance of the wire will be
A) 125Q B) 145Q

C) 156 Q

D) 186 Q C) 156 Q
C Page No. 14

43, 3 T R 1 R 2 G 3R Y s &
T ¥ feme 2Tgem IS €1 Wi 2 % uReferch
T K 1 G IREfies w8l Q, 3R Q,
il & i st §1 o TR w9

- g AT R el dng amew Q; R Q) R, Wl

1 | | |
il = L
1 2
]
|E |
A) Qi _K+1 Q@ T K+
Q, K Q, 2
Q, _K+1 Q K
C) Qi D Q2

44, UF FAT Q FEE F FO G WH A T
foig W forea fo Q x 10" VR 1 @ g W
form & &

A) 4ne Q x 102 Vm-!
B) 12re,Q x 10% Vi
C) 4ne,Q x 102 Vm-'
D) 12re,Q x 102 V-
45. 10 ™. T T IR IRAY 10 Q 81 TR

FETE TR G B9 § Gigat 25% &1 &

7§ | ar 1 iy g
A) 1250 B) 1450

D) 186 Q
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46.

47.

48.

49,

50.

The light ray is incidence at an angle
of 60° on a prism of angle 45°. When
the light ray falls on the other surface at
90°, the refractive index of the material
of prism p and the angle of deviation &
are given by

A) p=+2,8=30°
B) p=15,5=15°

J3

C) p== 5=30°
) B >

3
=,f—,5=15°
D) k=43

A ball is dropped from the top of a
building 100 m high. At the same instant
another ball is thrown upwards with a
velocity of 40 ms~* from the bottom of the
building. The two balls will meet after

A) 3s B) 2s
C) 25s D} 35s

Two balls are projected making angles of
30° and 45° respectively with horizontal.
if both have same velocity at the highest
point of their path, then the ratio of their
horizontal ranges is

A) 1:3 B) 3:1
C) V3:42 D) 1:4/3

Two blocks of 2 kg and 1 kg are in contact
on a frictionless table. if a force of 3N is
applied on 2 kg block, then the force of
contact between the two blocks will be

!SNE

AN 14

2kg1kg
Sl L e

A) ON B) 1N
C) 2N D) 3N

If the linear momentum is increased
by 50%, the kinetic energy will be
increased by
A) 50%
C) 125%

B) 100%
D) 25%

Page No. 15

48.

47.

48.

49,

50.

H07 45° T BT T 60° 3 T F R 0
SehTS1 feroT S 2t @ | 1 wehTen Y feemr
A 4B 90° W et & Y B p F e a;
3qadHTE Heit 3R e i § B

A) p=+2,8=30°

B) p=15,5=15°

J3

== 5=30°
C) p==3

3
=,/—,5=15°
D) k=43

& e H 100 H. S v wRa F WA
T s | s o E R e d 40ms

F A Y FR A A TF 37 2 TR I
RIEMie _ aefaei

A) 3s B) 2s

C) 25s D) 355

31 7151 i AT 30° 3R 45° I ffaw
& T ST 5 o1 ST © | 4 9 Rt 310
9y % wared figell W wmE 9 € g, &

ITeht @it il = STguTa #
A) 1:3 B) 3:1
C) V3:42 D) 1:v/3

g 2 TR, 3R 1 . & =ife ue o
T BT Ak 3 € | Ak 3 N 1 @& o
2 foh.m, & =oTe W T S R, 9 2

FEG & s Huh o B
3N
2kg kg
Pl Y AT N G SNV L
A) ON B) 1N
C) 2N D) 3N
Tfe Waek mam N 50% e fear S At i
Fel =g Wi |
A) 50% B) 100%
C) 125% D) 25%
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51.

52.

53.

54,

55.

56.

CHEMISTRY

According to Dalton’s law of partial
pressure, total pressure p,_,, =

A) P;+{p;-P;)xz
B) P} +(py—P})%e
C) P, %o +(py—P5)
D) p, o +(p3 —P3) %

The value of Van't Hoff factor 'i" for
ethanoic acid in benzene is nearly

A) 1.0 B) 1.5
C) 0.5, D) 1.21

Unit of molar conductivity, Ay, is
A) Sm™ mol B) Scm? mol™
C) Scm= mol D) S’cm? mol™

is suitable for hearing aids.
A) Dry cell
B) Nickel-cadmium celi
C) Mercury cell
D) Lead storage cell

Identify ‘A’ in the following reaction :

Alzoa(s)+6HC|m+9H20m—+ 2A o H6CT )
A) [A(H,0) 1% B) [AI(H,0),]**
C) [AI(H,0),]" D) [AI(H,0)]

Which of the following ion in aqueous
medium has orange colour ?

A) Cr,0.% B) Cr**
C) MnO,” D) MnQ,*

Page No. 16

51.

52.

53.

54.

55.

56.

A o
TTeeA % AT T e & oIgaR, F

B) P} +({Py—P;)%e
C) p;x;+(p,—P})
D) p, x2‘**(F)“2-I5’:)’(2

el $9rigen wftrs % fore de g St
V' =T Yo T &

A) 1.0 B) 1.5

C) 05 D) 1.21

TR JaTeHed Ay I 391 &

A) Sm~ mol B) Scm?2 moi™

C) Sem™ mol D) S*cm? mol™

e <t o <k fore 3o R
A) IF &

B) frepa-Shefiem aa

C) U &

D) d¥n seR ¥

i wfeferan 3 ‘A’ = ge=TL

ALOy 1+ BHC ot 9H O 2y 46CT o
A) [AI(H,0), B) [Al{H,0)I**
C) [AH,O)]* D) [AI(H,0)]

ey urer & e 1 8 frg s o ot
Bard ?

A) Cr,0.* B) Cr3*

C) MnO,~ D) MnO, %

8 PM PCB
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57.

58.

59.

60.

61.

62.

Picric acid is prepared from
in presence of conc. HNO,.

A) Carboxylic acid
B) Phenol

C) Nitrobenzene

D) Benzaidehyde

Williamson's ether synthesis involves

mechanism,
A) §,1 B) E1
C) §2 D) E2

Which one of the following complex is
Diamagnetic ?
A) [Fe (CN),J*
C) [CoF, >

B) [Co(C,0,).F*

D) {Mn (CN),}*-
is used in electroplating.

A) Hexane dioic acid

B) Benzoic acid

C) Methanoic acid

D) Ethanoic acid

Identify the type of isomerism
exhibited by the following complex :
[Cr(NH,),] [ Co (CN),]

A) Linkage isomerism

B) lonisation isomerism

C) Co-ordination isomerism

D) Solvate isomerism

Name the following reaction :
X R

@+Na+RX ﬂe_r_) ©/+

NaX

A) Wurtz—Fittig reaction
B) Wurtz reaction

C) Fittig reaction

D) Swatz reaction

Page No. 17

57. Tufshen 3 wiz HNO, %t sufeufy
o aar 81
A) HTeIFaIcTR ST
B) f&ra
C) rEgisisti
D) dweifesigs
58, AP & Smuwmmd . dn
i R
A) S, 1 B) E1
C) 5,2 D) E2

59. T § & #an fufdm wii-gedim 2 7
A) [Fe (CN)*-  B) [Co(C,0,).J*
C) [CoF,J* D) [Mn(CN)J*-

60. 1 ITA Tore T & g #1
A) T SHITSE o
B) ssifes ot
C) TuHIgs ¥

D) 3uMIgs a7

61. Frafafae 9 g weiife wrmawf =
maar%q:
[Cr(NH,),] [ Co (CN),]
A) ks vaEEg
B) g wuEga
C) Ta=aa guagd

D) wHicae TrTeRa

62. Ffafaa ififsran =1 an7 Tareu;
X R

@/+Na+RX ﬂ@/

+

NaX

A) FEai-Thfen arfifsran
B) gew arfufsan

C) e safufsman

D) w@dw stfufsan

1
I
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63. Complete the following reaction :

CH,
I %
CH.- G _OH _20%HPO, |
| 358K
CH, ,
| ﬁ*ﬁ
A) CH,- C —CH, +H,0
CHO

I
B) CH,— CH-CH, + H,0
C) CH,— CH,~ CH,+H,0
D) CH,=CH —-CH,+H,0

o
64. Correct IUPAC name ofo is
CH

A) 1—methyl cyclohexanone
B) 5—-methyl cyclohexanone
C) 2-methyl cyclohexanone

D) 2-methyl benzanone

65. Which of the following carboxyilic acid

undergo HVZ reaction ?
A) CH,COOH
B) HCOOH
C) C,H,COOH
Cl

|
D) CI—(|3-COOH

63.

64.

65,

ﬁw%%aaﬁ&mﬂqyfaﬁm
CH,

20%H,PO,
358K

I
CH, - cl; ~ OH
CH,
CH,

I
A) CH,— C —CH, +H,0
CHO

|
B) CH,— CH-CH, +H.0
C) CH,— CH, - CH,+ H,0
D) CH, = CH—CH,+ H,0
o)

F1 g IUPAC TH 8
CH,

A) 1-fremse TrgFTRaaT
B) 5 faura amsaeieaai
C) 2-fiuse agaasadid
D) 2-fremge dw

fr=ffae § @ F9-a1 FEifEaTee 3Tk
HVZ a1ffean =om 7
A) CH,COOH
B) HCOOH
C) C,H,COOH
|

D) Ct—cls-COOH

Cl Cl
66. Chlorine reacts with to give 66. FME __ an Al e sehtem
bleaching powder (Ca({OCl),). ast (Ca(0Cl),) LGS
A) CaCO, A) CaCO,
B) Ca (HCO,), B) Ca (HCO,),
C) Ca(OH), C) Ca(OH),
D) CaO D) CaC

C Page No. 18
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67. In Deacon’s process, catalyst used is

68.

69.

70.

71.

72,

A) CuCl B) CuCl,
C) FeCl, D) FeCl,
Tear gas among the following is
A) CCl, B) CCI,NO,
C) COCl, D) CH.,CI

is an example for
molecular solid.

A) SiO,
C) CaF,

B} ZnS
D) 8O,

The green manganate is
A) Antiferromagnetic
B) Ferromagnetic

C) Diamagnetic

D) Paramagnetic

A first order reaction is found to have
a rate constant, K = 5.5x10- 51, The
half-life of the reaction is

A) 1.26x10"%%s B) 1.26x10"s
C) 1.26x10'8s D) 3.69x10"s

In Haber's process for manufacture
of ammonia, the catalyst used for
increase the rate of reaction is

A) Copper
B) Vanadium
C) lron

D) Chromium

Page No. 19

67.

68.

69.

70.

71.

72,

Temia 1 fsra 1§ 3w S aren 38 2

A} CuCl B) CuCl,

C) FeCl, D) FeCl,

Ffadgengiat |

A) CCI, B) CCI,NO,

C) cocl, D) CH,CI
anmﬁmaﬁawm%l

A) SiO2 B) ZnS

C) CaF, D) SO,

B U 2

A) wfi-ciegeshi

B) wiegshia

C) wfagshia

D) gl

e e Y u AR w1 % Fraars

K =5.5x10"" s~ & | atfifaman <hi atuig 2
A) 1.26x10"% B) 1.26x10%s

C) 1.26x10"s D) 3.69x10"3s

st & fmio & fow ¥ wfpan 4,
arfirferaT i T agH % for yge I8 @

A) dfar
B) SAfemm
C) &
D) wiftm
8 PM PCB
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73.

74.

75.

76.

During concentration of ore, the
depressant used when the ore
containing ZnS and PbS is

A) NaCN B) NaCl
C) MgCl, D) HCN

Deacon's process is used for the
manufacture of

A) Chiorine

B) Sulphuric acid
C) Ammonia

D) Nitric acid

The structure of XeF is
A) Pyramidal

B) Distorted octahedral
C) Tetrahedral

D) None of the above

Drugs that bind to the receptor site and

. inhibit its natura! function are called

T/

78.

A) agonists

B) antagonists

C) antibiotics

D) antidepressants

Antiseptic, dettol is a mixture of
chloroxylenol and

A) terpene B) tetracyclin
C) terpineol D) iocdoform
isoprene is

A) 2-methyl — 1, 3-butadiene
B} 3-methyl — 1, 2-butadiene
C) 1-methyl - 2, 3-butadiene
D) 1, 2, 3-trimethyl pentane

Page No. 20

[ r{

73.

74.

75.

76.

77.

78.

ST ¥ iR & 99d ZnS 3R PbS I
e 1 ygEa omaeE (feee) 2

A) NaCN B) NaCl
C) MgCl, D) HCN

Tt o i ¥ TP 3
TR e |
A) T

B) HoHRIER 3T
C) STt

D) sfeen et

XeF ;= 4= &
A) frufrea
B) faafta sre=ivfim

C) Sg=hiviia
D) 3 8§ & =I§ e

AR dTge W sy Al 3 599 Mepfoh
e ot it L STelt T e @

A) TN

B) wftmeft (Geriifre)

C) wieiet (Tamifem)

D) sfemeuH (TWifedEe)

it W, FARISEATe 3R Fae
o fligor @

A) A B) gramsfEeH
C) <fifaia D) TS
IATZEHA B

A) 2-fyamsel — 1, 3-SR
B) 3-fausa- 1, 2-ggremE
C) 1-fhumse- 2, 3-=qIR=TH
D) 1, 2, 3-Zafiremset ¥
8 PM PCB
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79.

80.

81.

82.

83.

Water soluble vitamin is
A) Vitamin A
B) Vitamin D
C) Vitamin E
D) Vitamin C

+ 2Nax.
This reaction takes place in presence of

A) Alky! halide

B) Ahydrous AICI,
C) Ahydrous FeCl,
D) Dry ether

Co-ordination number of Fe in
[Fe(C,0,),°"is

A) 6 B) 4
C) 3 D) 2
Square planar complex of the type

MABXL (where A, B, X, L are unidentate)
shows isomers.

A) two trans and one cis
B) two cis and one trans
C) three trans

D} three cis

is structure of XeOF,.

A) Square planar

B) Pyramidal

C) Square Pyramidal
D) Planar Pyramidal

Page No. 21

79.

80.

81.

82.

83.

urt % geeie faerfim @
A) Rifm A
B) fae@ D
C) feiftm E
D) faafm C

X
2©’ +2Na+

+ 2Nax.

T Wieshan gqeh! Jufcufa # gt 2

A) ToshTgd BeIsS
B) fasia AIC,

C) Friet FeCl,
D) T 3

[Fe(C,0,),P~H Fe i guaa w&m 2

A) 6 B) 4

C) 3 D) 2

MABXL (ST A, B, X, L 3132 8 ) ¥R
& 91l i a3 SATZHT T
gyifan 81

A) T T IR R

B) @ fag i w= g™

C) da ™|

D) o= |

XeOF, I §= &
A) = RITT
B) frufirss
C) =t fufires
D) == frfise
8 PM PCB
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84.

85.

86.

87.

88.

89.

Ferrimagnetism is shown by
A) CrQ, B) MnO
C) CuCl, D) Fe,O,

P,+ 3NaOH + 3H,0 - PH, + A where
product A is
A) NaH,PO,
C) NaH,PO,

B) NaHPO,
D) NaH,PO,

All natural and artificial radioactive
decay of unstable nuclei take place by
Kinetics.

A) Zero order B) First order

C) Second order D) Third order

Which noble gas does not occur in the
atmosphere 7

A) Krypton
C) Helium

B) Argon
D} Radon

In Freundlich isotherm,
log % =log k+ —:; log p, the value of n is

A) between 0 and 1
B) between 1 and 2
C) between 2 and 3

D) between 1.5 and 2.5

The formation of micelles takes place
only above a particular temperature
calied

A) Critical temperature

B) Super critical temperature
C) Kraft temperature

D) Elevated temperature

D) 3~ dHE
Page No. 22

84, ?hﬁg’ﬁﬁﬂ(ﬁ:ﬂﬁﬁﬁm)mmﬁam
pe

A) CrQ,
C) CuCl,

B) MnO
D) Fe,O,

85. P,+ 3NaOH + 3H,0 —» PH, + A ST&l
SR AR
A) NaH,PO,
C) NaH,PO,

B) NaHPO,
D) NaH,PO,

86. Afr ik & wft wpfaes st Fhm

e araew Frfesm g

BIaT |

A) YA Hife B) el Hife

C) & Hife D) dfiwu e
87. H\AEl 35 1Y IIgHed 4 &1 IrT St ¢

A) fFem B) 7T

C) diferam D) ¥& (Radon)

88. eefi™ (Freundlich) Trgdies
Iog%: log k + % leg pﬁ nEh'ITLc_"EI%

A) 0 3R 1 F =
B) 1 3R 2% =
C) 23R 3F =
D) 1.53 2.5% =

89. fidew =1 fFmior Fawt o fordly Ao &
F A1 8, T T8 T R

A) wifee (Gefewet) aomm
B) = shifereh arn=
C) & aMEH

8 PM PCB




2

90.

91.

92.

93.

84.

95.

Mond process is used for refining
A) Fe B) Cu
C) Al D) Ni

Benzene sulphonyl chloride is called as
A) Lucas reagent

B) Tollen's reagent

C) Fehling's reagent

D) Hinsberg's reagent

Night blindness is caused due to the
deficiency of following Vitamin.

A) Vitamin B B) Vitamin A
C) Vitamin C D) Vitamin E

When Hexamethylenediamine and
adipic acid undergo condensation
polymerisation at high pressure and
high temperature to form

A) Nylon 6, 6 B) Nylon 6
C) Terylene D) Bakelite

Neoprene is an example for the
following type of polymer.

A) Thermosetting polymer
B) Thermoplastic polymer
C) Fibres polymer

D) Elastomers

Which of the following transition element
exhibit the oxidation state of +7 ?

A) Mn B) Fe
C) Ni D) Cu

Page No. 23

90.

91.

92,

93.

94,

95.

g W 1 39A 36 Rt A far g
A} Fe B) Cu
C) Al D) Ni
i wewifa TS dEaEi g |
A) T freste
B) efai=u figsie
C) efem fwsie
D) féweri figsie
with Frefafea fefr R a
T |
A) faarfia B, B) feifim A
C) faafimC D) feefim E
T AT ErsaTTs 3R uisfus
3T 359 T TR S q9HH W T
TR L €, AV _ TR |
A) Alsci 6, 6 B) IEd 6
C) i D) Seherge
ot Frefafea TwR % ages w1
RS |
A) THagE SIgTTh
B) ardfia wfees wgeren
C) W 9§
D) TR
e o @ S I o +7 i Stfadtem
eufa zafar 2 2
A) Mn B) Fe
C) Ni D) Cu

8 PM PCB
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96.

97.

98.

g9t

100.

Axial angles (Edge angles) of
Tetragonal crystal system is equal to
A) a=p=90°%7vy =120°

B) a=y =90° p=90°

C) a=pg=y =90°

D) a=#p=#y=00°

When Germanium is doped with
phosphorous is an example for
A) n-type-semiconductor

B) npn-semiconductor

C) p-type-semiconductor

D) pnp-semiconductor

To increase the solubility of CO, in
soft drinks and soda water, the bottle
is sealed under

A) High temperature

B) Low pressure

C) Low temperature

D) High pressure

When blood cell is placed in a solution
containing more than 0.9% (mass/
volume) saline solution, the blood cell
will shrink due to

A) Osmosis

B) Reverse osmosis

C) Dilution

D) None of these

The standard electrode potential for
Daniel cell is 1.1V, the standard Gibbs
energy for the reaction
Zn, + Cu > Zn* o

A) —212.27 KJmol™
B) +212.27 Kdmol!
C) —212.27x107 Kdmol™!
D) +212.27x107 Kdmol!

+ Cu(s, is
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96.

97.

98.

99.

100.

T Agenvna fereeet womeht 3 wid wor (Fem
F HI01) TEh TR B

A) a=p=090°7y =120°

B) a =7 =90° B =90°

C) a=B=y =90°

D) a=p=y=90°

T ST & T Gieni frern s g,

AT HTE RIS
A) NS 1 AL

B) npn-3d=ie®

C) p-ShR I

D) pnp-daeis

T9e fegm s @igr st # CO, i
gawﬁamaeﬁ%%qgaﬂﬁaﬁaaaﬁ
7 e foraT ST § |
A) I=9 qIIHH

B) =i q@

C) =1 aam

D) 35 €&

el T IR 1 0.9% ¥ e (FwE/
) @R e Tt faeem & sen s
2, BRI % wRu e Sl @
A) TG

B) Sed1 &Rl

C) e

D)sﬂﬁﬁaﬁéwe"i

e e & fow O e fenma
1.1V 2 | 21fufsran

Zn, + Cu? o —Zn? o+ Cug
& fora o fisw =il @

A) - 212.27 Kdmol™

B) +212.27 KJmol!

C) —212.27x107 KJmol™

D) +212.27x107 KJmol™!
8 PM PCB
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101. Water potential for a solution at
atmospheric pressure is

A) greater than 1

B) equalto 1

C) equal to solute potential
D) pressure potential

BIOLOGY

102. Appearance of about 62% of parental
types in a dihybrid cross is due to the
presence of genes on

A) same chromosome but closely
packed

B) same chromosome distantly located
C) different chromosomes

D) distantly on same chromosomes or
on different chromosomes

103. Non-motile spores and gametes are
found in the members of

A) Rhodophyceae
B) Chlorophyceae
C) Pheophyceae
D) Cyanophyceae
104. During DNA replication for the

polymerisation DNA nucleotides energy
is provided by

A) RNA nucleotides
B) DNA nucleotides
C) DNA polymerase
D) ATPase

105. Diplontic life cycle found in
A) Polysiphonia
B) Ectocarpus
C) Chlamydomonas
D) Fucus

101.

102.

103.

104,

105.

SiEHI=]
TYFEE 316 R T foerm & i 5ia fna 3
A) 14 21t
B) 1 SR
C) faerft fawa & sUer
D) Tm fva

w feesfe #9 & 62% TESA TH R #1
TR IsRTuT T i i Sufeufa =
T BT R |

A) T TOgF Sifeh eked @ s
B) &R o W0 @ s

C) i Torea
D) ¥9H TORE 71 Fr o W

e Ty 3R He & Hew
T g 91a € |
A) USrepTgEt
B) FARIGIZE
C) FrremEh
D) |TEIGIgE

e ufd ferfiestor & S S faderss
TETAHIH o foag Fsfl BRI IeTeY
0SS & |

A) RNA Jfaasierse

B) DNA =fFasiierss

C) DNA qiefiatt

D) ATPase

fewiiftw Siem=s_ Humamn? |
A) dicfiargmifan

B) TG

C) FEEMATE

D) w[Fa
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106.

107,

108.

Colour blindness is a allosomal recessive
gene disorder. Human males are more
susceptible to this disease because

A) Alleles controlling normal colour
vision is located on Y-chromosome

B) Allelescontrolling normalcolour vision
is located on 21%-chromosome

C) Alleles controlling normal colour
vision is located on X-chromosome
which is single in males

D) Human males wear cooling glasses
more than females as a part of
fashion

Identify the wrong statement from the
following.

A) Snails and fish go into aestivation to
avoid summer related problems.

B) Zooplankton species in lakes and
ponds enter in to diapauses.

C) Small animals have larger surface
area relative to their volume,
therefore smaller animals are rare
in polar region.

D) Thick cuticle and stomata in deep
pits are the hydrophytic adaptations
of certain plants.

Which of the following is not a
characteristics of pBR 322 ?

A) Origin of replication
B) Selectable markers

C) Multiple recognition site for a
restriction endonuclease

D) Rop codes for a protein for the
replication of plasmid

106.

107.

108.
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ferpedt X-TroreE W gt & S el 6 U
G

D) ¥ % It W A T ATET hi e 32
=7 o1 31t T S §

forferiaa # @ Tera oM g |

A) =i o weferat T @ wefta geened
AT & fow R A sma €

B) Stefta sfa et i aram # s
FAT

C) Bie el o TR S ST I Skt
Fftrr B & or: o S gt &= 1
FE |

D) %o Wiui # S fedrfd @ 1gee w&
A Tt R e H W MY S |

ffafaa # 3 99-8 pBR 322 $i fawivard
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A) wfafafirt =1 3

B) gfHar wret

C) T FTYeh TSI o Igae=M T
D) wfers ¥ whafattst & e s 9em
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108.

110.

111.

112.

113.

Foul odours secretes by some plants
which attracts

A) Bees

B) Flies and beetles

C) Birds

D) Moths

Which of the following is not salient
feature of genetic code ?

A) Codons are nearly universal

B) Codons are degenerate

C) AUG has dual functional, it is an
initiator codon

D) Codons are ambiguous

This is the tallest flower.

A) Yucca

B) Amorphophallus

C) Vallisneria

D) Strobilanthus Kunthianus

The process in which the female gamete
undergoes development to form a new
organism without fertilization is called

A) Embryogenesis
B) Gametogenesis
C) Parthenogenesis
D) Microsporogenesis

The outer layer of the blastocyst is
called

A} Tonoplast
B) Trophoblast
C) Chorion

D) Amnion
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109.
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114. This is a natural method of contraception.

A) Periodic abstinence
B) Use of diaphragms
C) Use of Lippes loop
D) Sterilization

115. This is an example of co-dominance.
A) Flower colour in Snapdragon
B) Height of Pea plants
C) ABO blood groups
D) Eye colour in Drosophila

116. Identify the incorrect statement.

A) In plant cells the vacuole can occupy
up to 90 percent of the volume of the

cell.

B) The tonoplast facilitates the transport
of number of ions against the

concentration gradient.

C) The isolated lysosomal vesicles
contain hydrophytic enzymes such

as lipases, proteases etc.

D) Vacuole contains only water and

sap.

117. ldentify incorrect statement.

A) The herbicide 2, 4-D is widely used

to kill monocotyledonous plants.

B) Auxin helps in cell division in addition

to cytokinin.

C) In most situation ABA acts as an

antagonist to GAs.

D) Ethylene is a phytohormone which
is a air poliutant and also a product

of combustion.
118. Find the mismatched.
A) Stomach —  Alcohol
B) Small intestine —  Nutrients
C) Chylomicrons —  Liver
D) Mouth — Drugs
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118.

120.

121.

122.

The final hydrogen acceptor in the
cellular respiration is

A) NADH
C) o,

B) NADPH
D) Cyic

Identify the correct sequence based on

number of carbon in ascending order

A) Pyruvic acid < Succinic acid <
a-ketoglutaric acid < Citric acid

B) Succinic acid < a-ketoglutaric acid <
Pyruvic acid < Citric acid

C) Citric acid < a-ketoglutaric acid <
Succinic acid < Pyruvic acid

D) Pyruvic acid < a-ketoglutaric acid <
Succinic acid < Citric acid

Bacillus thuringiensis spores are mixed
with water and sprayed to plants, which
show this action.

119.

120.

121.

FINEA e 3 3T ergeiem ITeaeat 2
A) NADH B) NADPH
C) O, D) Cytc

el o1 T o WG HH o T RGeSl

TEEIAT |

A) tisEfas @ < Hf?%g =
a—lgﬁél'ﬂ?!tﬁ I < HEA

B) qieaieh 3 < o I <
THRlas o7 < fufdes ave

C) fafew s < a-fRheRits st <
Tfeaf e 3n < uTefaes oy

D) urgelas 3 < o
wfFates o < e ana

S/ Bacillus thuringiensis sfsmepsii 1 arf
¥ iRt it w Rseent s 2, o 7w i

B2 |

H <

A) ;‘gigt/skili the mosquitoes visiting the A) 3 diei R R e 9 Ay
B) They act in the larval gut and kil B) gm 37 3 7 7 § o 378 o 2
them )
C) They invade the fungi and kill them C) 3 heleh T &Il 3:% TR &
D) They get rid of the aphids harming D) 9 Wil 1 THEM T T T &
the crops g foem 8
Match the following and choose the | 122. fim =i fired sik wet frmrew 9fiu
C?"ga .ﬁption. i. Bacillus
i. Bacillus 7h .
thuringiensis a. Corn borer w e ‘=|T=h'§ R
ii. RNA interference b. Tobacco ii. ANA q@eisTErst b, daTe e
budworm 1
. 18 |Ac ¥ . Meloidegyne
iii. Cry IAc gene c. Meloidegyne . 7% 1A v . i
_ incognitia ineognitia
iv. Cry IAb gene d. Cotton boll iv. %TE IAb S d. ST % e
ot i "‘(’j°"“s, X A)i-c  ii—a ii-d iv—=b
i-c  di—-a i iv— . ) .
B)i-d ii—c ii~a iv—b B el Gom gy v =
C)i-b ii-c i-d iv—a C)i-b ii-c ii—-d  iv-a
D) i-d i—a fi—b iv—c D) i—d ii—a iii—b iv—ce
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123. This was not the reason for selection

124.

of Drosophila melanogaster for

genetic experiments, by Thomas Hunt

Morgan.

A) They complete their life cycle in
about two weeks

B) Male and female flies were clearly
distinguishable

C) Their hereditary variations can be
seen under low power microscopes

D) Only fixed number of variations were

observed in them

Identify the correct answer for the below

given statements.

a. We experience nausea and fatigue
at high attitudes.

b. This is because of fow atmospheric
pressure.

A) both (a) and (b) are true and (b) is
the correct explanation of (a)

B) both (a) and (b) are true and (b) is
not the correct explanation of (a)

C) (a) is true and (b} is false

123.

124.

aimg ge winw g0 AgENE s o
Drosophila melanogaster % =& T 98
v HEIN

A) I T B TEATE B G Sad =6
FA T

B) T it wieT afeRaat v w9 @ fir 4

C) =W TR o GEHERT o T Ieh SR
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D) 3 Faw Tifem de & frmard @t
T
=1 72 =i O 8 e I wEET |
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F &
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e T B

B) (a) 3fit (b) i @&t § 3K (b), (a)
e TRt e &

C) (a) Tl & 3 (b) 7o B

D) both (a) and (b) are false D) (a) 3fX (b) T 7 §
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125. Give one word for the following and

choose the correct option.

a. Breaking down complex organic matter
into inorganic substances by fungus.

b. Water soluble inorganic substances
get precipitated as unavailable saits.

¢. Dark coloured amorphous substance
decomposes at a slow rate.

d. Further degradation of humus and
release of inorganic nutrients.

A} (a) — Mineralisation
(b) — Catabolism
(¢} — Leaching
(d) — Humification
B) (a) — Catabolism
(b) — Leaching
(c) — Humification
(d) — Mineralisation
C) (a) — Leaching
(b) — Humification
(c) — Mineralisation
(d) — Catabolism
D) (a) — Humification
(b) — Mineralisation
(c) — Catabolism
(d) — Leaching
126. Fertilization external in all except
A) Echinodermata B} Ctenophora
C) Hemichordata D) Coelenterata

125. Fr1 & fore o vise <ifd ait et feeg

126.

g |

a. T B ST ek YeTd § e el
TaTe T de |

b. ot & gereiter sterreifoen varel srqaerey
AU % T F IE8fia & 9 §)

C. T& U & IR 9eTY oy e | fufia
T &)

d. @e-fagt &1 o st srgmmwr aflt
STHTE T YN deal i e

A) (a) —@f=
(b) — 1T
(c) —=fifam
(d) — TEfifteeher
B) (a) — s/
(b) — =fifem
(c) — TEfifthehTm
(d) -wF=
C) (a) —wifem
(b) — epfifterem
(c) —&f=
(d) — 31T
D) (a) — gHiftherer
(b) — @t
(c) —39=4
(d) — <fifer
____Faffw e efiamsmy

A) TETEHIEHRT B) dHIERT
C) zhmpisa D) fusieter
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127.

128.

Which among the following has
persistent calyx ?

A) Chilli B) Tomato
C) Pea D) Brinjal
identify the incorrect among the following.

A) The iarge empty colourless cells in
grasses are called bulliform cells

B) Bulliform cells are modified abaxial
epidermis of grasses

C) Meristematic layer that is reponsible
for cutting off vascular tissues is
called vascular cambium

D) Bulliform cells can turn flaccid due
to water stress

129. Match the following.
i. Glandular epithelium 1. ear wax
ii. Exocrine glands 2. fat
iii. Adipose tissue 3. salivary
gland
iv. Ciliated 4. hormones
5. fallopian
tube
A)i-3 i—-4 ii-2 iv-5
B)i-5 ii—-2 iii-1 iv-3
C)i-3 ii—-1 i-2 -5
D)i-5 i—-4 ii-2 iv-3

130.

Identify the incorrect among the

following.

A) There are 8 ankle bones and 7 wrist
bones

B) Each coxal bones is formed by the
fusion of 3 bones

C) 8™, 9t 10™ ribs are vertebrochondral
they donot articulate with sternum
directly

D) The number of cervical vertebrae
are seven in almost all mammals

including human beings
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131.

132.

133.

134.

135.

Bundle sheath cell of C4 plants perform

A) Cyclic photophosphorylation only

B) Non-cyclic photophosphorylation
only

C) Both cyclic and non-cyclic
photophosphorylations

D) Neither cyclic nor non cyclic
photophosphorylations

Presence of Radula and Hemocyanins are
the characteristic features of the phylum

A) Arthropoda

B) Mollusca

C) Echinodermata
D) Platyhelminthes

Identify the class of fungi considering
the following characteristics.

i. Aseptate and coenocytic mycelium

ii. Production of aplanospores

iii. Formation of zygospores

iv. Aquatic/saprophytic/parasitic,
habitats

A) Ascomycetes

B) Basidiomycetes

C) Phycomycetes

D) Deuteromycetes

Which of the following is not the part of
endomembrane systems 7

A} Golgi complex

B) Endoplasmic reticulum
C) Lysosome

D) Mitochondria

Multiple fission is a type reproduction in
case of

A) Bacteria
B) Paramecium
C) Amoeba
D) Euglena
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136.

137.

138.

This is not a stop codon.
A) UGA B) UAA
C) CuUG D) VAG

Match the following and identify the
correct option.

i. Water hyacinth a. Bulbil

il. Bryophylium b. Offset
ii. Agave ¢. Rhizome
iv. Ginger d. Leaf buds
A)i-b ii—d iii—a iv—c
B)i-d i-c fii-b iv-a
C)i-¢ ii—-d jii ~ a iv-b
D)i-d ii—-a i-c iv-b

Match the following and identify the
correct option.

I. Cretaceous a. Progymnospsrms

li. Triassic b. Therapsids

ili. Devonian ¢, Thecodonts

iv. Jurassic d. Gnetales

A) i-c ii—d ii—b iv—a
B)i-d ii—-c iii—a iv—-b
C)i-b ii—a iii—d iv—¢
D)i-¢ ii-—a iii—b iv—d
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139.

140.

141,

Identify the True and False statements.

a. The antibodies produced against
allergens are IgA type.

b. Difficulty in breathing is a symptom
of allergy.

c. Drugs like anti-histamine reduce the
symptoms of allergy.

d. Protected environment in early life
prevents occurrence of allergy.

A) aand b-True
c and d - False
B) aandc - True
b and d — False
C) aand d — False
bandc - True
D) aand c - False
b and d- True

Match the crop with its variety name and
choose the correct option.

i, Cauliflower a. Pusa swarnim
ii. Chilli b. Pusa shubra
iii. Brassica c. Pusa komal
iv. Cowpea d. Pusa sada

bahar
A)i-b ii—d jii—a iv—CcC

B)i—-d ii—c jii—b iv—a
Ci-c ii—-a iii—d iv—b
D) i-d li—a lii—b iv—cC

Choose the correct option for the below
given statements.

a. lllegalintroduction of Clarias gariepinus

poses threat to indiginous catfishes.

b. Passenger Pigeon got extinctbecause
of over exploitation.

A) (a)is true but {b) is false

B) both (a) and (b) are false

C) both (a) and (b) are true and (b) is
not the correct explanation of (a)

D) beth (a) and (b) are true and (b} is
the correct explanation of (a)
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142. Give one word for the following and | 142, /5 & o & wise s ok =& ey
identify the correct option. g

a. Excessive growth of planktonic
algae

b. Floating plants with mauve coloured
flowers

¢. Increase in concentration of toxicants

at succaessive tropic levels

d. Cutting of forest trees and burning
plant remains

A) (a) —Jhum cultivation
(b} — Algal bloom
{c) — Eichhornia crassipes
(d) — Biomagnification
B) (a) — Algal bloom
(b) — Eichhornia crassipes
(c) — Biomagnification
(d) — Jhum cultivation
C} (a) - Eichhornia crassipes
(b) — Biomagpnification
(c) — Algal bloom
(d) ~ Jhum cultivation
D) (a) — Biomagnification
(b) — Algal bloom

(c) ~ Jhum cultivation

(d) — Eichhornia crassipes
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143.

144.

Identify the true and false statements.

a. In plants, the male gamete fusing
with the egg cell produces zygote.

b. The fusion of polar nuclei and gamete
is called triple fusion.

¢. Endosperm is completed consumed
by the embryo in coconut.

d. Endosperm persists in mature seed
of pea.

A) aand b — true
c and d — false
B) aand b - false
cand d - true
C) aand c—true
b and d — false
D) aand d -true
b and ¢ - false

This is the correct order of male
accessory ducts moving from inside the
testes to outside.

A) Vasa efferentia — rete testes —
epididymis — vas deferens

B) Rete testes — vasa efferentia —»
epididymis — vas deferens

C) Epididymis — vas deferens — vasa
efferentia — rete testes

D) Vas deferens — epididymis — rete

1485.

testes — vasa efferentia
These are not the characteristics of
Down's syndrome.
a. Gynaecomastia
b. Furrowed tongue

c¢. Lack of secondary sexual
characteristics

d. Short stature with small round head.
A) (a)and (c) B) (a) and (b)
C) (b} and (c) D) (a) and (d)
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146.

147.

148.

149.

150.

|

Identify correct statement.

A) Every 100 mi of blood can deliver
around 5 mi of CO,

B) Every 100 ml of blood can deliver
around 4 ml of O,

C) There is no significant role of O, in
regulation of respiratory rhythm

D) At the tissue site partial pressure of
CO, is high due to catabolism as a
result CO, diffuses into blood

How many among the following is/are

correct ?

1. Limbic system reguiates sexual
behaviour along with hypothalamus

2. Thalamusis amajorcoordinating centre
fore sensory and motor signaling

3. Midbrain and hindbrain form the
brain stem

4. Medullaoblongatacontrols expression
of emotional reactions

5. Arachnoid is in contact with the brain
cells

A) 1, 2 and 3 are correct

B) 3, 4 and 5 are correct

C) 4 and 5 are correct

D) 1,2 and & are correct

Identify the mismatched.

A) Himgiri — Hill bunt

B) Bassica — Pusa swarnim
C) Cowpea — Pusa komal

D) Chilli —~ Pusa sawani
Which experiment proved that DNA

is in chromosome and replicate
semi-conservatively ?

A) Griffith Experiment

B) Taylor Experiment

C) Hershey and Chase

D) McLeod and McCarty

Identify mismatched.

A) I#trimester - Limbs and digits
B) Parturition — Prolactin

C) Colostrum - IgA

D) Milk glands - Sweat glands
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